V(vdrv) V(vfb) I(D1)
2V ‘ |
1Vfff*fffff:fff*fffff:fff*fff7717777777771777777777%771 fffffff 184.4916pA
ov : : : : : ‘ 184.4910pA
v - e - e - e - T = - T T 184.4904pA
-2Vfff*fffff}ff*fffff:fff*fff77%77777777%77777777%771 fffffff 184.4898pA
3V - ‘F ffffffff ‘P ffffffff T ffffffff ‘+ ffffffff T*ﬂ ******* 184.4892pA
-4Vfff*fffffrff*fffffrff*ffff*vffffffffofffffffof: fffffff 184.4886pA
SV - - ‘L ffffffff ‘L ffffffff ‘L ffffffff ‘L ffffffff f,,‘ fffffff 184.4880pA
e e P T T e 184.4874pA
-7Vfff*fffff;ff*fffff7ff*fff777777777777777777777771 fffffff 184.4868pA
8V - - P === b= — - o= === - === - 184.4862pA
-9Vfff*fffff:fff*fffff:fff*fffff:fffffffff:fffffffff%ff: fffffff 184.4856pA
-0y — — — —— S — e e e e 184.4 A
0 I(Rcurm) 84.4850p
-658.80194mV | | | | | | 1.0102A
-658.80196mVfffffffff}ffffffff:fffffff77%77777777%77777777%771 fffffff 1.0100A
-658.80198mv - F— === = = - === = = t— === == — - - == == S i 1.0098A
-658.80200mVfffffffff}ffffffff:fffffff77%77777777%77777777%771 fffffff 1.0096A
-658.80202mv - F— === = = - === == t——— === - - == == t - 1.0094A
-658.80204mVfffffffff]fffffffff]fffffff77%77777777%77777777%771 fffffff 1.0092A
-658.80206mv = = = e - ——— == L 1.0090A
-658.80208mVfffffffff:fffffffff:fffffffff:fffffffff:fffffffff%ff: fffffff 1.0088A
-658.80210mv - — — -~ - === o= == T === T === e e 1.0086A
-658.80212mVfffffffff:fffffffff:fffffffff:fffffffff:ffffffffffff‘ fffffff 1.0084A
-658.80214mv [ T T T T T T T T T T T T T T T T T T T T T T T T T 1.0082A
-658.80216mVfffffffff:fffffffff:fffffffff:fffffffff:fffffffffff*\ fffffff 1.0080A
-658.80218mv -~ il r— - - === T T o T T T T T 1.0078A
-658.80220mV | | | | | | 1.0076A
14.4ms 15.0ms 15.6ms 16.2ms 16.8ms 17.4ms 18.0ms

V(vonegq): (17.578257ms,-9.987812V)
I(Rcurm): (17.578257ms,1.0087723A)

delta: (0s,10.996584)

--- D:\bsch\524B\CVAmp.raw ---



